.\ BRIDGEVIEW MFG. INC.

2015 & 2016 Case IH 620 Quadtrac Aq

Adapter Scraper Hitch

Assembly Manual

Last Updated: October 11, 2023

Bridgeview Manufacturing Inc.
P.O.Box 4
Gerald, Saskatchewan, Canada

SO0A 1B0O

Phone: 1-306-745-2711

Fax: 1-306-745-3364
Email: bmi@sasktel.net
www.bridgeviewmanufacturing.com



http://www.bridgeviewmanufacturing.com/

1 Parts Book

The following diagrams show the part numbers for ordering any replacement parts on a
2015 & 2016 Case IH 620 Quadtrac Ag Adapter Scraper Hitch. Some components may not look
exactly as shown.

Quantities are listed for as shown. The diagrams should be referenced to find the part
number, and order quantities should be based on what is requited, not necessarily by the quantity
on the table.

Left and right as used in the parts book is as viewed from the rear of the tractor looking in

the direction of travel.



1.1 Adapter Assembly

1. Make sure drawbar pin on the tractor is in hole closer to the rear

Rear of Tractor

|| =







Adapter Assembly
Description ID # QTY
1 Bolt, M24 x 3 x 80 (Gr 10.9) 28590 8
2 Hex nut, M24 x 3 (Gr. 10.9) 28594 12
3 Roll Pin, V4" x 1-3/4” 28589 2
4 Main Lock Shaft 28614 1
5 Bolt, M24 x 3 x 200 (Gr. 10.9) 28591 2
6 Bolt, M20 x 2.5 x 240 (Gr. 10.9) 28593 4
7 Lock Pin 28611 1
8 Pop rivet, 1/8” x 17 27192 2
9 Serial Number Plate - 1
10 Bolt, %4’ x 17 11810 3
11 Flat washer, ¥4” 11666 3
12* Plated chain, 3/16” x 20” 11618 2
13 Hex nut, M20 x 2.5 (Gr. 10.9) 28595 4
14 Main Lock 28607 1
15 Rubber Handle 11796 1
16 Lynch Pin, 3/16” x 1-1/4” 13233 1
17 Main Adapter 28596 1
18 Bolt, M24 x 3 x 240 28592 2
19 Shim 28615 1
20 Nylon lock nut, %4 11664 3

*Plated Chain is to be connected from main adapter (28596) to main lock shaft (28614) as well from main
adapter (28596) to lynch pin (13233)



1.1.1 After Assembly







Optional Scraper to Ag Adapter Category 4 (31401)

Scraper to Ag Adapter Assembly
Description ID # QTY
1 Scraper Adapter 28334 1
2 Grease Zerk, ¥-28 x 90° 16389 2
3 Case IH Ag Adaptor Pin 35219 1
4 Category 4 Scraper to Ag Adapter 31390 1
5 Ag Adapter Pin Stopper 31399 1
6 Nylon Lock Nut, 14" 10241 2
7 Category 4 Hitch Pin 31373 1
8 Bolt, 15” x 4-1/2” 15574 1
9 Ag Adapter Pin 31400 1
10 Bolt, 4” x 57 15400 1
11 Lock Pin (3/8" x 2-3/16" Usable) 35219 1




Optional Scraper to Ag Adapter Category 5 (35226)

Scraper to Ag Adapter Assembly
Description ID # QTY
1 Scraper Adapter 28334 1
2 Grease Zerk, ¥2-28 x 90° 16389 2
3 Case IH Ag Adaptor Pin 35219 1
4 Category 5 Scraper to Ag Adapter 35222 1
5 Ag Adapter Pin Stopper 31399 1
6 Nylon Lock Nut, 14" 10241 2
7 Category 5 Hitch Pin 31374 1
8 Bolt, 4" x 5 15400 1
9 Ag Adapter Pin 31400 1
10 Bolt, 15” x 4-1/2” 15574 1
11 Lock Pin (3/8” x 2-3/16” Usable) 35214 1







FASTENER TORQUE CHARTS

BOLT CLAMP LOADS
Sugaested Assamily Torque Values
USS/SAE GRADE 5 USS/SAE GRADE 8
DMAMETER TEHSIE PROOF Clap TORDUE TiEL PROOF CLaE ToRaE
& THREADS SREMTH LoD Loap Ay LUBHICATED STRENGTH LoD LoaD DRy LUBSACATED
FPER INCH M. F3l LB LE FTLB FTLE MiN. P35l LB LB FTLB FTLE
1420 120,000 2,100 220 8 63 150,000 1800 2,850 12 §
28 120,000 3,100 30 10 12 150,000 4,350 3,250 L 0
5/16-18 120,000 4450 M0 7 13 150,000 6300 4,700 24 18
24 120,000 4,500 3700 18 L] 150,000 ] 5.200 n n
16 120,000 6,500 4550 3 3 150,000 8,300 6,980 ] 35
4 120,000 1.450 5600 % 2] 150,000 10,500 1.800 50 35
1/16-14 120,000 0,050 780 Bl 1 150,000 12,800 0,550 0 50
20 120,000 10,100 1570 55 40 150,000 14,200 10,650 L] &
213 120,000 12100 2050 75 55 150,000 17,000 12,750 110 B
20 120,000 13,600 10.200 85 65 150,000 18,200 14,400 120 0
871612 120,000 15,500 11,600 11 a0 150,000 21,800 16,350 150 o
L 120,000 17,300 12,850 20 €0 150,000 24400 18,250 170 130
Lo 120,000 19,200 14,400 150 o 150,000 27,100 20,350 210 160
L 120,000 21,800 15,350 170 13 150,000 30,700 23,000 240 180
3410 120,000 28,400 21300 0 20 150,000 40,100 30,100 380 280
16 120,000 31,700 23780 3w ] 150,000 44,800 33,500 420 kil
/88 120,000 39,300 29450 430 i 150,000 55,400 41,600 0D 450
L 120,000 43,300 32450 4T 0 150,000 61,100 45,800 G670 500
) 120,000 51,500 33,600 &40 4 150,000 12700 54,500 oo BED
4 120,000 57,700 43300 TH 540 150,000 1,500 61,100 1.020 pii]
When using anii-seize, reduce the lbed chart reading by 20% to propery torque. Torgques for Grades 5 and 8 were calulated based on
Biways Iubricate and use lubed torgue values, the following redationship:
T=RDP
Where: T = Torque (ft )
NOTES: 0 = Nominal Diameter (in)
The above racommended assembly torques are offered a5 a quide only. Torque P - (tamp Load (B)

specifications, especially for critical joints, should be determined under actual assembly R = Tightening Coefcint
conditions due to the many variables involved which are difficult to predict and do o " )
affiect the torque-temsion relaboship. The valee of R & assumed to be equal to 20 for dry, unplated conditions and equal to

The above recommended clamp kaads are Based an 75% af the minimum specifid :]: f:'mm%“mm '“":rg m”ﬁﬁ“ﬁfﬂ alies of R can vary batween

proof loads for eah rade and size.
FRACTIONSL MERSIREVENT
Cap Scaew|  Nun
YEon TERELE Boir Watn | WeEnH
STRENCTH PR0OF LOKD STRENCTH MN. STREES M. DIAMETIR SEE S
GRAD APPLICARLE SI7E% STRESS (P3I) STRESS (P31} (rs1) 14 1716 116
SMEGr & 1/4 2 17 dameter B5,000 92,000 120,000 516 142 172
over 1" diameser to 14,000 B1,000 105,000 B 415 0/16
1-1/2 diameter 116 |58 11716
SAE Gr. B 1/4 w0 1" diameter 120,000 130,000 150,000 12 4 4

0716 | 1318 1/8
5¢8 15116 15/16

. 4 1-178 1-1/8
Pounds ta Inch Pound Comversion 1/8 1-5/%6 | 15116

Bl =inch b 1 L2 |1
Example- 91b x 12 = 108 inch b ME |16 s
e (1 |1
e (216 |21
e |z |2
134 |25 |25m

24 |33 e

knparial has made a concerted effor to provide scourste information inits catalog and on its website, howeer Imperial assumes no it 30 3314

responsbility for the accuracy of the information. All information publishod by Imperial in its catalogs, markoting Rersture, and on is 234 | 4178 4178
wobsito i provided "s= is” without wamanty, oxpressod or implicd. Impenial and its vondors disclsim all waranties, oxprossod or £ 4142 12
imphed inclding. without limitation, waranties of marchanability ardpmﬁmsfm & particulsr purpose.



FASTENER TORQUE CHARTS

GUIDE FOR PREVAILING-TORQUE LOCK NUT ASSEMBLY TORQUES (CAD AND WAX, GRADE B, C,
AND GRADE G FLANGE NUTS) LOCK NUT STANDARDS FROM IFI-100 REQUIREMENTS

Terque-Tension Requiramanty

GRADE B GRADE £ GRADE G
REEMELY Az RESDMELY
ki3 CLamr Losn TorowE CLamF Loan Toraue Crawe Loap ToRalE
Threads P INcH ] Maox. Mri [E}] Max. T, ()] Tilax, T,
1/4=-20 2000 85" B 2850 125 a5 25850 5 i i
1/4-28 230 50 B 3250 125 a5 3350 e e
516=18 3350 150 = 4,700 1507 13 4,700 i 15™
362 3,700 1607 120 5.200 20 14 5200 Fi i 15
IB=18 490 il 145 6,950 i an 6,550 32 1
IB-24 5,600 prl 1& 7800 5 1 1500 33 2
e &,800 k) 4 9800 a 31 0L00 81 3
Tie-20 7,550 kL | 10,700 a3 31 10700 -1} a1
1/2-13 5,060 50 £ 13800 825 45 12800 BE 55
1/2-20 10300 825 s 14.440 0 50 A0 -0 54
21611 11,500 | & 16400 # )] 16400 120 [:h]
1812 13000 175 515 18,500 % L] 18300 132 BE
£/3-11 14500 55 b 2,30 125 50 20300 143 L4
L/B-18 16300 57 715 23,000 115 50 23000 5 115
4-10 1300 185 125 0,100 210 155 30100 1T 160
4-15 3300 185 120 3,600 210 155 33600 270 110
T/8-4 500 50 125 41,600 25 L] 41400 360 260
T/8-14 32400 i 20 45500 3125 5 45800 4 W
1-8 38,7100 i 1] 54,600 25 380 54500 530 410
1-11 42300 95 =0 5,150 450 380 59,750 — —
1-14 43,000 400 00 61,100 500 3825 1,100 1] 3w
1-1/8-1 42,100 404 ket £5,000 &35 454 £3.000 — —
1-1/8-11 47500 437 ki) TE800 &2 453 THA00 — —
1-1/4-1 53500 513 k1] 7,000 T34 573 BT 000 — —
1-1/4-11 54,100 247 a2 9,600 a2 5 85,400 — —
1384 £3400 £12 s 104,000 B0 ;1] 04,000 — —
1-3/8-11 12500 ] i ] 118,000 5 35 118,000 — —
11424 17500 145 L] 127,000 1078 gar 127,000 — —
1-1/2-11 &7,100 &7 ] 142,000 1,150 gar 2,000 — —

» [1zmp kads for the Graze B lock nuts ezual 75% of the bak proof kads spedfies for SAE J-429 Grade 5, =nd ASTM A-44% boils
[zm Inak for Grade © hack nuis e3usl 75% of the ok proof loads specifiss for SAE 1-429 Grade 8, a2 RS B-354 Graze BO bolls

»  IFI-100 2023 nal govam hock nuts sbowe 1°. The values shown in the chart =10 be wsad 25 3 midrangs quidaling

** Torgee values for 1/4" and 5/146" sizes are in inch 1b. AN other forque walues are in foot I,

METRIC TORQUE CHART FOR HEX HEAD CAP SCREWS

Newron M Foor Pousmes (sreaan)
iz G | D Purm | Unpeam | Dinc Puamen | Uweuarn Cuwss

W x . T0Pich a3 i 21 230 1.65
W5 x B0 Plich BA a1 55 438 413
Méx100PRh | BAE 104 95 150 113
M7x100PRh | BAE 174 155 1275 £
WBx135FRh | B =0 230 1875 1735
W8 x1.00 Fich BE na 245 2025 1838
WMI0x 150 | BA 510 450 k¥ 3450
WMI0x1.00Mh | BA 514 5210 427 90
N10x 125 | BE L2 1) 430 4050 3805
W12x1.75Rm | BE E1D T30 8525 3835
W12x1.25Rm | BE B0 BT 2| £535
W12x1.50Mh | B3A e Bi0 5900 £235
Wldx 200RIh | BE 400 150 e 5313
Widx 150t | BA 150.0 1350 11250 0125
Wi6x 200Mch | BA 2150 190 1615 14625
W18x 250 Pch | B3 w000 2800 1500 Filili]
N20x250PIch | BE eI e 300 nw 250
N22x250PIch | BE Sa00 5300 13m0 TS
N24x3.00PIh | BE L HE a7e.0 555,00 0250
Mo x1.00 Fich k] 155 o 1483 1050
WBx135Fich ne o 340 175 550
W10 x 150 | 109 50 BED 5625 5100
WI2x1.75Mch | 109 1600 n1a 9750 -l
Wi x 200 Mich | 109 250 1850 154.75 13875
N16x 200 Ak | 109 300 2800 15150 11000

PHONE: 1-800-558-2808

TORQUE CHART FOR STAINLESS STEEL CAP SCREWS

ile 18/8

Size =] FEH-1E
32 i Cl |
&4l 127 121
232 Fak 158
B35 230 frrdi|
10-24 238 8
-3 i nr
1/4-20 TER TE2
1/4-18 w #a
5/M16-18 | 1380 1320
5624 | WIA 1420
1318 W14 2380
i ma =0
Mg | 390 gl 1%
T1e-20 | 4180 0an
/2113 5410 E1TgE
1320 5650 5410
51812 | T30 6820
51618 | 7814 =i
511 10600 | 1100
5818 1300 1.244.0
3410 13820 1.5300
3418 15580 14900
a5 24300 | 23ma0
1814 24200 | 2nEn
T4 35950 | Za0o
T-14 33500 11100

FAX: 1-800-553-8769

WEB: wwwi.imperialsupplies.com

(=

'



